
nB[bZr ‘T’ 
 

         gzithA d/  g/goK dh frDsh ;zpzXh gq'ckowk 
 

bVh 
BzL 

g/go e[Zb pZfunK 
dh frDsh 

50 g/goK 
dh frDsh 
tkb/ fbckc/ 

20 g/goK dh 
frDsh tkb/ 
fbckc/ 

10 g/goK dh 
frDsh tkb/ 
fbckc/ 

1 gfjbh GkPk  

gzikph gfjbh GkPk     

fjzdh gfjbh GkPk     

T[od{ gfjbh GkPk     

2 d{ih GkPk  

gzikph d{ih GkPk     

fjzdh d{ih GkPk     

3 tksktoD 

f;Zfynk 

    

gzikph whvhnw     

fjzdh whvhnw     

fJzrfbP whvhnw     

T[od{ whvhnw     

4 rfDs     

gzikph whvhnw     

fjzdh whvhnw     

fJzrfbP whvhnw     

T[od{ whvhnw     

5 nzro/Ih     

B'NL^ feqgk eoe/ fJj gq'ckowk s[ozs G/fink ikt/ ih. 

fibQk f;ZFfynk nc;o(n?Hf;) 


